A Derby Puzzle: “One of the Losers”
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A. The person on the horse. -
23 150 116 65 145 132
B. Harrison Ford’s state?
16 140 127 194 186 122 179
C. Like a horse or a lion.
51 13 182 112
D. Wilhelm Dichter’s “God’s Horse” was translated iy ey e sy iy ey e
- ‘ 164 207 195 81 10 172 178
into French as “Le Cheval du ” (2 wds.) 7
E. Cityin Nebraska OR 1935 Triple Crown Winner. ~— __
211 25 131 193 162
E. A Canadian Mountie is one example. -
96 66 138 26 176 53
G.  Without any help. -
39 128 153 206 213 199 28
H. An exchange OR a shoot cut from a tree. -
83 106 201 71 37 161
L. Press and stretch with the hands. -
135 111 75 82 196



The lady who shows a horse. 35 98 174 165 o 115 183 24 156 141 17 85

A “new” event in the sky.
Number of horses that run in a modern Derby:. =7 TR o7 ToE 503 o5

Without a tether. — = e e e

ThCy run the Derby hCI'C, not the WlnStOIl Cup m ? 1_69 T6 ﬂ W m m E T8 E E R m
(2 words).

This “Odd” and “Grumpy” celebrity owned a -
horse that finished third in the 1980 Derby. 84 159 113 141 187 6 20

A popular place to go on the Internet. == — — — ——

Charities thrive on them.
“...they are by their Creator...” -  — — — — — — —

What they run for on Derby day =~ ===  — — — — —

The Derby Gala} is ].DCII.Ig celebrated for the 15 TE 58 1708 @ 1 5 a7 15 15 B 175 708
benefit of what institution? (4 words)

Opened wide.

“My Old Kentucky Home” composer. (2 words) —— — __ ___ ___ ___ ___ ___________ __ _
101 155 44 59 33 73 212 114 92 148 197 192 205

Caramelized sugar cooled in thin sheets. —_——

This French composer’s music was plaY.ed, =1 131 6 12 167 95 60 145 107
probably badly, at the first racing meet in
the United States in 1866.

Very still OR Derby winner in 1998. (2 words)

157 214 126 171 177 99 121 58 41

Moved very slowly.

A word frequently paired with ‘cause.’ -

Exchanges OR Derby winner in 1955. _— e e e =
14 109 158 168 50
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